ﬂ%%«@7tﬁ—1 ( FIFE~D 7 10— 2
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MRER 2. A 21—
AvZea—NRE L GEALBROB L BN -

- ListenField & 7 R 2 F— L THF 30X DSTICA v E2 2 —%{To 7,
<64 Hiia—T 4 p— X — S RERREE

8K aviEI oA

<16 4 1 —fRESR

AP A7 :

1. ListenField & 7 K 2 REFR % FFE,

2. ListenField 230 BEEG % 2> 1 TRl % [ < o

3. 7 R EZDBZIMEDFRICERL L., iHiliz R ¢ 5,
4. 7 v — ME#%E Google 7 + — L IR FT 5,

5. 7V —bME2HED 5,

-EHRTT v — b

-BEROSF~DT v — b

CSAT DH-#H &

A=Y —DiREZLLT D 1~5 TRAL T b\, HH g TRIL 7,
1 edmEL Ty

2 R L TN

-3 bbb ThARN
43R LTnD

-5 5 IR R (s

Z2aT7 3 (Za—FIN) OREHVERZEZF 20, 2—F — @M Ra A v &2 AT
T35, >FIVFOHNILLTDHEY TH 3,
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Questions User A User B | User C
Score given Score given Score given

Question - 1 2 3 4

Question - 2 4 5 5

Question - 3 5 5 5

Average score 3.6 4.3 4.7

Z—F—A O CSAT 22713 3.6 £
2 —%F—B DOFH CSAT 22713 4.3 5
Z2—HF—COFEHE CSAT X a7 4.7 5

CSAT A=t v F—3 (%) 1, 2—F—L_ANDVHR AT 2T TMEL, FAR 2
7 THl > T 100 ZH 2KfEIC 7 B

Total Response Scores Given
CSAT (%) = X 100

Total Possible Response Scores

CSAT (%) is ((3.6+4.3+4.7)/15) x 100 = 84%.

CSAT 2 a7k, BEMZME Gk L7-EE) ZREEHRTH - T 100 28T, ~—+%
vTI—=VTRRT L ETHEHET S, HlxiE, HERER50 450, 45 EEER 28
KohhiE, CSAT 1Z90% & 725, Ziid Yes/No %, —IEN (ZIR) oER~o %
RBT 2HECITEMNIEA. R EICB T 2 L 2 BUEC R 2 58 IR T ik
B3,

TIERSE (CHR) OBRITCIRIEREE 1~328eT0E AT v FINE D, STk L HBERA
L7z CSAT Za 7k, 2—F—2bDiEEOMEL X 0 I BT~ Gz bhi
2—F—ZEDFEHPR AT HTNTMEL, AR 7 TEl-T 100 2H 1 7=%8fE e L
776

(Source: How to Calculate CSAT & What It Means for Your Business)

https://monkeylearn.com/blog/csat-calculation/
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https://monkeylearn.com/blog/csat-calculation/

CSAT DB -Ccflif L 7281/ -

R 22
Z a7
BIRE LT, v vy aT ) VBRI EDOREMREL ThE T2 ? 5
ke LT, FarmAl 7 70 7 — 3 3 v OBWIEEREE D BREM: 12w 2sT L .
7= ?
SRE LT, GBI~ YTV VIV AT LARFHLAZGE BT 35 ? 5
COEECT 7V 7 —v a VERACKIRICED 2[RI EoRES ) T .
2 ?
FHIDOZA/FERIIFHE T L 722 ? // NI IE H o FHlic & o FREb 2 X 5
NFELED»?
CSAT % a7 o4EHE -
BN
i
=i A 2 i 2 FE %
a7
7
SRE LT, =v v T U v O BEREICIE Y ORI
5 3.8 75%
LTCWnEFTHh?
kL LT, FarmAl 7 7' ) 7 — 3 a v oI E#EEED
) \ 5 3.8 76%
BIEHE T VT L5 ?
SEL LT, Sb~s vy 2T ) vy 2T LRI
5 3.8 76%
L7zwnweEnE 327
COMBERT SV r—va v ERAPCKIEICED b nlfE
\ 5 3.9 78%
HIZEORESL D T35 ?
FHRIDOZA/EHRIZEHE L 22 ? // &R INEH o 7 . 36 99
Wlic & ORREEER X N L2 ? ‘ °
e EAaT 75%
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BR~DT v 7 — | OfEROGEM:

R LT, v vz T ) VBRI EOREHRE L TChE T ?
[\ 2% 2 21 1k

15
10 11 (52.4%)
7 (33.3%)
5
3 (14.3%)
0 (0%) 0 (0%) ' J
0 |
1 2

kL LT, FarmAl 7 7V 7 — 3 a v ORI RE DIRIEE T WS TL 720 ?
|25« 22 1

10.0

10 (45.5%)
9 (40.9%)
7.5
50
25 3 (13.6%)
0 (0%) 0(0%)

0.0 |

1 2

RL LT, 5BI~I V2TV VIV AT AENHALZVWERE T ?
B 21 1

® 5/ Yes
® b/ No
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COMEESCT TV — a VERAPKIRICHED ZHREMIZ EOREH O 500 ?
[ 5%« 22 1

8

8 (36.4%) 8 (36.4%)
8
6 (27.3%)
4
2
0(0%) 0{0%)

0 |

1 2

INVEH D FHNZ T L 72 & B g 422
255 : 22 1

15
12 (54.5%)
10
8 (36.4%)
5
0 (0%) 0 (0%)
0 |
1 2

INEHD ZR~— P TPHIZEEZLBVWETH2?2DLZ540, FOXHICEERDTL
o507
mIEE: 22 ¢

® s/ ves
@ i/ No

90.9%
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FHIZN/-HAFEEEOHMICX LI T L7207
[ 5%« 22 1

Z DXL O cIr»?
255 : 22 1

@ 1/ Yes
@ L3/ No

@ LanTENUNETTHINR W NiemIe
#1# / Natural Impacts such as floodin...

@ ruwipueIgiuine / Contractor's
Availabilities

0 lifinvsfiawana / no gap

-Somie contractors did net fill in their contact informaticn
-The schedule of booking has been delayed due to contractors having
Covid-1%

-In khee system, they ml'EI'rt heve booked some sp-:l:ﬂ"i: dabe but they
sometimes had to end up harvesting bafone or after based on the
situation

Bk EDOHRENRN/ 2 v b7 7 2 —DEERIN/ AL L/EHEETERATIOEED D72/
AV IR —DaaFRPICL B TFRARAT Y 2 —VDEN/S AT L ETIE, HAEED
HEFHRLTWE LT, IRNIKIGUTZOHIBICIEL 20N bR nwi b dH D
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